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Aufgaben-Quickname: 7163

Aufgabe 1
Quick:
7163

Berechne.

a) 9 · 8 = 72 b) 4 · 8 = 32 c) 2 · 6 = 12 d) 4 · 7 = 28
e) 3 · 7 = 21 f) 3 · 5 = 15 g) 6 · 6 = 36 h) 3 · 2 = 6
i) 4 · 6 = 24

Aufgabe 2
Quick:
7163

Berechne.

a) 19 · 3 = 57 b) 18 · 9 = 162 c) 16 · 5 = 80 d) 15 · 5 = 75
e) 12 · 7 = 84 f) 11 · 3 = 33 g) 16 · 7 = 112 h) 12 · 4 = 48
i) 15 · 4 = 60 j) 14 · 9 = 126

Aufgabe 3
Quick:
7163

Berechne.

a) 16 · 33 = 528 b) 16 · 42 = 672 c) 14 · 30 = 420
d) 15 · 40 = 600 e) 10 · 15 = 150 f) 18 · 44 = 792
g) 17 · 34 = 578 h) 13 · 23 = 299 i) 18 · 40 = 720
j) 12 · 45 = 540

Aufgabe 4
Quick:
7163

Berechne.

a) 40 · 98 = 3920 b) 17 · 56 = 952 c) 41 · 26 = 1066
d) 17 · 36 = 612 e) 17 · 39 = 663 f) 23 · 15 = 345
g) 25 · 71 = 1775 h) 34 · 38 = 1292 i) 46 · 23 = 1058
j) 12 · 48 = 576

Viel Erfolg!
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